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T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
XiE L b 10, #Ext 30, 000 432 216]  # 30, 000
AS a5 10, #@xt 50, 000 1,296 216 A# 40, 000
=E2 R¥ 10, #Ext 3,000 1,296 864  # 3,500
IKE R 0.2 #Ext 500 108 # 500
INAER = 0.2 #Ext 300 54 2 # 300
INRER R 0.2 #Ext 1,500 54 # 1,500
A & 10, #@xt 25, 000 432 216]  # 20, 000
FS5SNAE = 0.2 #Ext 300 140 54, O 500
o & 5, +Y 5,070 1,944 1,620 1,404  # 4,500
A Rk 5  fBxf 1,250 1,944 # 1,200
=3 L AR, FKiH 0.1 #xt 2,000 43 # 2,000
Joyval)y— AL 2F. dtiEE 8 fBxt 800 2,808 # 800
L& R =2F 10| #@xt 3,000 1,296 # 3,000
FoF YA Rk 0.2 #Ext 100 130 # 100
#I AS & 5, +Y 500 2,160 1,836 1,512]  # 700
¥ R 4| 8% 1,200 1,296 # 1,200
kT k & 4 +Y 1,200 1,296 864 216]  # 1,600
S kY b % 0.2 #xt 1,500 119 H 1,500
E—<> a5 0.15 #Ext 6, 000 97 A 4,000
Hk R 5| #Ext 1,000 1,728 # 10, 000
EHE R 10 #8xt 5, 000 2, 808 # 3, 000
A—=HA4 a5 10 #8xt 10, 000 2,916 2,160, # 10, 000
FAT7H) EHZE % 10| #Axt 3,000 2,700 2,160 H
E¥ A4L. A3L o 100 &) 16, 000 3,240 324 H 15, 000
EA EE 20|  fExt 10, 000 4,536 H 5, 000
A=K a5 11 Y 6, 000 2,376 756  # 5,000
EHE =2F 0.1 #8xt 1,800 76 A 2,100
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I\EHRREETIBEGIEGEEIERVE2ZEDRTEICEY RDOESYRELET, ARFEH | SFM65F07827H
e Eih Bfi Ry EFEH = =iE il =ZE| iR FEH=E
T4 A . B 0.1 #Bxt 1,000 59 # 800
HEREE 167, 800




